Homework Solutions
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The overall magnification of the image is 3 and it is inverted from the

original object.
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The position of the final image is 7.47 cm in front of the second lens
because the negative image distance corresponds to an image in front of
the lens. The overall magnification of the image is +1.07 so the image is
upright and, virtual (since the overall image is on the same side of the
second lens as the object --> negative image distance) and 1.07 cm tall.
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a.  The original object should be located 13.3 cm in front of the left
lens.



b.  The overall magnification is —=5.90.

c.  The final image is inverted because M<0 and virtual since g2 is
negative.



